Momentum

Xmas Review 


1. How high does the pair climb after the collision? (Inelastic)
2. A 2 kg melon is hit with a 0.5 kg arrow and the pair hit the ground 3 m from the base of the post.

3. After the collision, the 1 kg wagon is moving 10 m/s to the right.  Fins the speed and direction of the 2 kg cart.  Is KE conserved, lost or gained?

4. The 40 g bullet goes through the 3 kg clay ball and emerges with a speed of 50 m/s.  How high does the clay ball swing?

5. A 50 kg boy is carrying a 10 kg bowling ball as he ice-skating on a frictionless pond.  He is moving west at 5 m/s when he throws the ball backward over his shoulder at 2 m/s east.  Find the final speed of the boy.
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